AT TR
ALUMINUM AT ACTUATORS

EMR: 153 3520 5123 £ &8
#5p. 188 5271 7918 21

A L milinAER B RAA

il TRh WA TR0 S Kok W At WUXI ACCTON FLUID TECHNOLOGY CO., LTD




=

= b : _‘_;1—1
N e

A

—— Mechanical Manufacturing .
L BUHBSHNITS ks

Professional Manufacturing of Pneumatic Actuat

"

"

140

. Y " I I a
- ll::ﬂ”n ST Ko |-|T- Ll
- Ll

. Y I

| ha ol " vr—

e, " T o .
- e I
s L

AT K |




02 I‘,ﬁ'\x=,\$! M‘?E*IJ/\DD BiLCABERIFR S=SFHAGEAE

Adva nced TeSti ng Eq u i pment Innovate with Intention Competition can develop

7c it B i i &

r -
. PO

REFNEE. FHYES. FOAZTEEAREN, TEEERRNRE S sea IR HEAN
&rge)], FEBR MY E R,

BAIEER L HERENAT, HESRENINIFLO. FRPOHIETIREATmRE
el IR T B TIRIREE

=

]

only good management,good ideas,good talent is not enough,refined equipment is
equally required to guarantee high production capacity and excellent quality.

importing global advanced productcing and processing equipment and talent,st.hans now
has high-accuracy cnc machines,large-size processing machines and custom

machines,which guarantee the excellent product quality and thus the rapid development
of the company.

13

14



www.wxaccton.com

RN Product description

Accton

O 157=88 Indicator
NAMURFNEIEREHETTRMNEF K. EAESFM 4.

Position indicator with NAMUR is convenient for
mounting accessories such as Limit Switch box,Positioner

© ;EZ Pistons

WEZEASR, KAFERRAENEEFNENE | Z&EMUE
;iglffjﬁ EIERUE. FRFMIK , FREEEZE AN

The twin rack pistons are made from Die-casting aluminum
treated with hard anodized or made from cast steel with
galvanization.Symmetric mounting position,long cycle life
and fast operation,reversing rotation by simply inverting the

@ 5% Pinion

RN, s —MlmBHENFFSNAMUR, 1SO5211
. DIN3337tnE. AIRIEEPEKRETR TFIATENEREL

The pinion is high-precision and integrative,made from
nickelled-alloy steel,full conform to the lastest standards of

ISO5211,DIN3337,NAMUR.The dimensions can be customized
and the stainless steel is available.

® 137275 Travel adjustment

MR A TR TS IR T T LU T/ ST £ S RIATT R AL E.

The two independent external travel stop adjustment bolts
can adjust £5° at both open and close directions easily and
precisely.

1TEET
Travel adjustment

© TI{K Actuator Body

ASTM6005EFEE AR LR AREREMN. RAMIEER
(HRIEEXER=0. &8, EtF ). PTFERETERHE

AEEK,

According to the different requirements,the extryded

aluminum alloy ASTM6005 Body can be treated with hard

anodized,powder polyester painted (different colours is
available such as blue,orange,yellow etc.),PTFE or Nickel plated.

@ SMEEEE High performance springs

RAMEEE, RELE. MERR. BEREAEIRIER]
(%GR, BefBiRHR. EERAIRER{ERATER BT S
HEREA , ANSOEBLEE.

Preloaded coatingsprings are made from the high quality
material for resistant to corrosion and longer service life

which can be , demounted safely and conveniently to

satisfy requirement of torque by changing quantity of springs.

@ iw= End caps
SRS ERASEMANASZMENE. PTFERESERCE,

Die-casting aluminum powder polyester painted in
different colours,PTFE or Nickel plated.

U 5 B 2

O HiE. S Bearing & Guides

KARER., KEnEaMM  BERTEBSEBIEREM
#HSBEIRE RS E.

Made from low friction,long-life compound material,to avoid
the direct contact between metals. The maintenance and
replacement are easy and convenient.

15

© EH O-rings

TR aLFRFTNMERTRRERERZ-20°C~+80°C
TEafFEARRBAEZE:-15°C~+150°C

TR EREZREORE Z:-60°C~+80°C

Temperature conditions to use NBR:-20°C~+80°C

In High temperature conditions to use Viton:-15°C~+150°C
In Low temperature conditions to use Silicone:-60°C~+80°C

16



Accton

www.wxaccton.com

Z%l Parameters

Z4F0ME Parts and Material

17

FS BHR HE e agisp et Qe
1 R ERIRET 1 Ey
2 PN 1 20
3 i 1 i
4 TREBH 1l BN
5 INB R 1 TEEE
‘ S L
> 6 A 1 e BRAW
7 Eraay 1 TEEE
8 e 1 aEW
9 FHORE 1 T IR TR/ BEARAR
10 AT il TiE%eEs
11 L3 1 BEW PR TEEN
12 TR E I TiE%es
13 THORE 1 T HSIR AR RS/ BEAR R
14 P /) TR BISA/FERAR
15 AR RORE 2 TSR TR /AR AR
16 LE3Ss /) W
17 PEREL Y 2 W
18 VE -3 2 Enas® R
Q:/ VS 19 TEEFIR 2 TEEk
v 20 THEZIRE ) T2k
y 14 21 SEEORE 2 TEEIRE SRS RR/FEAR IR
| 22 20 2118 2 43 12 s -
o 23 23 ORI 2 TSR SRR/ FEAR AR
24 I 2 EHma® KRR
24 25 i R E R g R
25
NO. Description Qty Standard Meterial Protection Optional Meterial
1 Indicator screw 1 Plastic
2 Indicator 1 Plastic
3 Axis block 1 Stainless steel
4 Metal gasket il Stainless steel
5 Outside washer 1 Engineering plastics
6 Body 1 Aluminum Hard anodized etc
7 Inside washer ! Engineering plastics
8 Cam 1 Alloy steel
9 Bearing(Pinion top) 1 NBR Viton/Silicone
10 Shaft support ring 1 Engineering plastics
11 Axis 1 Alloy steel Nickel plated Stainless steel
— : 12 Lower shaft support ring 1 Engineering plastics
e ¢ — 13 Bearing(Pinion bottom) 1 NBR Viton/Silicone
 — < 14 Plugs 2 NBR Viton/Silicone
| — o o 15 O-ring (Adjusting bolt) 2 NBR Viton/Silicone
“!'@ - 16 Screw nut 2 Stainless steel
"_—'-' — Y 17 Adjusting bolt 2 Stainless steel
B 18 Piston 2 Die-casting aluminum Hard anodized etc
o P - = 19 Piston guides 2 Stainless steel
'g gg“_ 20 Pistor_1 support ring 2 Engineering plastics _ N
—_— e = 21 O-ring (Piston) 2 NBR Viton/Silicone
=g T 22 Spring 0-12 Spring steel Dip coating
— - = i 23 Plug 2 NBR Viton/Silicone
B ! 24 End cap 2 Die-casting aluminum  Powder polyster painted etc
- = 25 End cap fastening bolt 8 Stainless steel
=2 £33

18



www.wxaccton.com

T{E/RIEE Operating Principle

XYHERR#1T2E Double Acting Actuators

19

CCW (Standard)

A" B At

0° close 90° open
AL#S, EfRTSHENEERINEE, EhTaEH)
HIMFATETIERE(0°—>90%), BOAFS. BOMS, &
T SIENEERNIE), EhTEEM Rt EEE
#(90°—0°), ALHFS.

Air to Port A forces the pistons outwards, causing the
drive shaft to turn counterclockwise while the air is being
exhausted from Port B. Air to Port B forces the pistons
inwards, causing the drive shaft to turn clockwise while
the air is being exhausted from Port A.

BA{EA{TEE Spring Return Actuators

FC-CCW (Standard)

' : ' =T '
IIAII 1 & llBll HA" @ ﬁ. IIBII
0° close 90° open

ALlES, FERSSRIRME D, HEEmAsNET,
HITER IS EEN(0°>90°), BOHES,: #T
B, EEEEE NN ARG, WIS
HARIRE £ 7(90°—0%), ATIHES.

Air to port A forces the pistons outwards, causing the
springs to compress, The drive shaft turns counterclock-
wise while air 1s being exhausted from port B. Loss of air
pressure on port A, the stored energy in the springs forces
the pistons inwards. The drive shaft turns clockwise while
air 1s being exhausted from port A.

cwW
= =
IIAII ' ﬂl IIB" IIAII u t IIB"
90° open 0° Close

ACS, FER=SEINEERINE, EHhTER
HIRIETETIERE(90°—0%), BORES. BO#S, E
FESENEERNIEY), EHTEREL T IE
#(0°—90°), ALHES.

Air to Port A forces the pistons outwards, causing the
drive shaft to turn clockwise while the air is being
exhausted from Port B. Air to Port B forces the pistons
inwards, causing the drive shaft to turn counterclockwise
while the air is being exhausted from Port A.

0° Close

ADHS, ER=SRREN, o ERINED),

HiTREd L IETETEEEN(90°—0%), BOHFS, 17
RARS, IEEEAENERTRWNIEE, PTHRE
HimE T EtEEEn(0°—90°), AOHES.

Air to port A forces the pistons outwards, causing the
springs to compress, The drive shaft turns clockwise
while air is being exhausted from port B. Loss of air
pressure on port A, the stored energy in the springs forces
the pistons inwards. The drive shaft turns counterclock-
wise while air is being exhausted from port A.

A Output Torque

Accton

WAEAREEB I Output Torque Of Double Acting Actuators

i 0%
// % Rotation
o %V e
-
0° 45° 90°
Unit:Nm
TS SIREAAIr supply pressure(Unit:bar)

E5Moagel 25 3 4 45 5 55 6 7 8
DA-32 3 4 3 6 b 8 8 9 11 12
DA-40 5 6 7 10 11 12 13 14 17 19
DA-52 8 10 12 16 18 20 22 24 28 32
DA-63 15 18 22 29 33 36 40 A4 5l 58
DA-75 20 25 30 40 45 50 59 60 70 80
DA-83 31 39 47 63 70 78 86 94 110 125
DA-92 45 56 68 90 102 113 124 155 158 181
DA-105 66 83 99 132 149 165 182 198 231 264
DA-125 100 125 150 200 226 251 276 301 351 401
DA-140 171 214 256 342 385 427 470 513 598 684
DA-160 266 332 3599 052 598 665 731 798 931 1064
DA-190 426 332 638 851 958 1064 1170 1271 1490 1702
DA-210 S 665 798 1064 ik 72 1330 1463 596 1862 2128
DA-240 769 962 1154 1539 1731 1924 2116 2308 2693 3078
DA-270 1170 1462 1754 2339 2632 2924 3216 3509 4094 4679
DA-300 1526 1908 2289 3052 3434 3815 4197 4578 5341 6104
DA-350 2285 2856 3427 4570 5141 S5/12 6283 6854 71997 Splele
DA-400 3256 4070 4884 6512 7326 8140 8954 9768 11396 | 13024

S FRHVTERAAIER ) N

FEIEERERET | SUERRITEEERINZ 25 E20%-30%,

<

&1 J/3%E=100Nm
L2 %E=100x% (1+30% ) =130Nm
SIRE]=5Bar

XU ERIRESR | B FRHITER &R\ I DA105.

Sizing:Double Acting Actuator

The suggested safety factor for double acting actuators under

normal working conditions is 20%-30%.

Example:

The torque needed by valve=100N-m
The torque considered safety factor(1+30%)=130N-m
Air Supply=5Bar

According to the above table,we can choose the minimum model is DA105.

110



www.wxaccton.com

B{EA®WEIIZE Output Torque Of Spring Return Actuators

Output Torque

L IfapA)iE

A Output Torque

5wy

Accton

Unit:Nm

iHHAEOuUtput torque of air to springs

Springs’ output

M Rotation \*\t Rotation
p SoKe P \ SRR o
7\ N 772
0° 45° 90° 0° 45° 90°
Unit:Nm
% Output torque of air to springs Springs’ output
(= FAir pressure 2.5BAR 3BAR 4BAR 5BAR 6BAR 7BAR 8BAR
b= Model | SPriN[ O 90° 0° 90° 0° 90° 0° 90° | 0° 90° | 0° 90° | 0° 90° | 90° 0°
Qty. | Start | End Start End Start End Start End Start End Start End Start End Start End
SR-40 kK2 |13 27 5.0 14 7.5 3.1 9.8 4.5 7.5 4.8
Ks |57 3.8 7.6 5.7 6.2 43
K6 | 49 |25 6.9 4.5 109 | 85 74 5.0
K7_|40 |13 6.0 33 9.8 73 140 | 104 8.6 5.9
sy | K8 5.2 2.0 9.2 6.0 132 | 91 172 | 141 9.9 6.7
K9 43 0.8 8.3 4.8 123 | 79 163 | 128 | 203 | 168 111 | 76
K10 7.4 3.6 115 | 67 155 | 116 | 195 | 156 124 | 85
K11 6.6 2.3 106 | 54 146 | 104 | 186 | 143 | 226 | 183 | 136 | 93
K12 9.7 4.2 138 | 91 178 | 122 | 218 | 171 | 148 | 102
Ks | 114 | 7.7 150 | 114 223 | 149 104 | 68
K6 |101 |57 136 | 93 209 | 166 | 283 | 239 125 |82
K7 |86 3.6 125 | 72 195 | 145 | 268 | 219 146 | 96
K8 109 | 5.1 182 | 124 | 255 [ 198 | 328 | 270 [ 401 | 343 167 | 109
SR-63 g 168 | 104 | 241 | 177 | 314 | 249 | 387 | 322 188 | 123
K10 14 8.2 228 | 156 | 300 [ 228 [ 373 | 301 [ 447 [ 374 | 209 | 137
K11 215 | 135 | 287 | 207 | 360 | 280 | 433 | 353 | 229 | 150
K12 200 | 114 | 273 | 186 | 346 | 259 | 419 | 333 | 250 | 164
K5 | 145 | 106 | 194 | 155 295 | 257 145 | 105
K6 |124 | 76 173 | 126 274 | 227 | 375 | 328 174 | 127
K7 |104 | 48 152 | 97 253 | 199 | 354 | 299 203 | 148
SR-75 [k 131 | 68 231 | 169 | 333 | 270 | 432 [ 370 [ 533 | 470 232 [ 169
K9 210 | 141 | 312 | 241 | 411 | 341 | 512 | 442 261 | 19.0
K10 190 | 111 [ 288 | 212 | 390 | 312 [ 491 | 412 [ 591 [ 512 | 290 | 211
K11 270 | 183 | 370 | 283 | 470 | 384 | 570 | 484 | 319 | 232
K12 249 | 154 [ 349 | 254 | 449 [ 354 | 549 | 454 | 347 | 253
Ks [233 [ 161 | 311 [ 240 468 | 397 230 | 158
K6 | 201 | 115 | 280 | 193 437 | 351 | 594 | 507 276 | 19.0
K7 | 170 | 69 248 | 14.8 405 | 305 56.2 | 46.2 322 | 221
SR-83 | K8 217 | 10.1 374 | 258 | 531 | 415 | 688 | 572 | 845 | 729 368 | 253
K9 342 | 213 | 499 | 370 | 656 | 526 | 812 | 683 414 | 285
K10 310 | 166 | 467 | 323 | 624 | 480 | 781 | 637 | 938 | 793 | 460 | 316
K1l 436 | 277 | 593 | 434 | 750 | 591 | 906 | 748 | 50.6 | 34.8
K12 404 | 232 561 | 389 | 717 | 545 | 874 | 702 | 552 | 380
K5 | 331 | 220 | 442 | 332 | 668 | 559 344 | 23.3
K6 | 284 | 152 | 396 | 264 | 622 | 490 | 848 | 716 412 | 280
K7 | 238 | 82 349 | 194 | 575 | 421 | 802 | 647 481 | 327
SR-92 | K8 313 | 126 | 529 | 352 | 755 | 579 | 981 | 805 | 120.7 | 103.0 550 | 37.3
K9 482 | 284 | 709 | 51.0 | 935 | 736 | 1160 | 96.1 619 | 420
K10 436 | 215 | 662 | 441 | 888 | 667 | 1113 | 89.2 | 1340 | 1118 | 68.7 | 46.7
K1l 615 | 37.2 841 | 599 | 1066 | 824 | 1292 | 1050 | 756 | 514
K12 568 | 304 | 794 | 530 | 1019 | 755 | 1245 | 981 825 | 56.0
K5 | 51.0 | 334 | 675 | 499 | 100.6 | 83.0 492 | 316
K6 | 447 | 235 | 6L1 | 400 | 942 | 73.2 | 1273 | 1062 59.1 | 38.0
K7 | 384 | 137 | 549 | 303 | 879 | 634 | 1210 | 964 689 | 443
SR-105 | K8 485 | 204 | 816 | 535 | 1147 | 865 | 147.7 | 119.6 | 180.8 | 152.7 787 | 506
K9 753 | 43.7 | 1084 | 768 | 1415 | 109.8 | 1745 | 1429 886 | 569
K10 689 | 334 | 1020 | 665 | 1351 | 996 | 1682 | 1326 | 2012 | 1657 | 984 | 633
K11 957 | 570 | 1287 | 901 | 1618 | 123.1 | 1948 | 156.2 | 1083 | 696
K12 894 | 475 | 1225 | 806 | 1555 | 1136 | 1886 | 1467 | 1181 | 759
K5 | 73 47 98 72 148 | 122 79 52
K6 | 63 31 88 56 138 | 107 188 157 94 63
K7_| 52 15 77 40 127 | 90 178 141 110 | 73
SR-125 | K8 67 25 117 | 75 167 125 217 | 176 268 | 226 125 | 84
K9 107 | 59 157 109 207 | 159 257 | 210 141 | 94
K10 96 44 146 | 94 196 | 144 247 | 194 297 | 245 157 | 105
K11 136 78 186 | 128 236 | 178 286 | 228 173 115
K12 125 63 176 | 113 226 | 163 276 | 213 188 | 125

111

I EAir pressure 2.5BAR 3BAR 4BAR 5BAR 6BAR 7BAR 8BAR
Spring| 0° 90° | 0° 90° 0° 90° 0° 90° | 0° 90° | 0° 90° | 0° 90° | 90° 0°
AE2Model|>RN9
Qty. Start End Start End Start End Start End Start End Start End Start End Start End
K5 | 128 85 171 127 256 | 213 129 86
K6 | 111 59 154 102 239 187 325 273 155 103
K7 | 94 33 137 76 227 | 162 308 | 247 181 120
SR-140 | K8 120 50 205 136 291 221 376 | 307 462 392 206 137
K9 187 110 273 196 358 | 281 444 367 287 Ti5E
K10 170 | 84 256 169 341 | 255 427 340 512 | 426 258 172
K11 238 143 324 | 229 | 409 314 | 495 | 400 284 189
K12 221 118 307 | 203 392 289 | 478 | 374 310 206
Ks | 193 | 124 259 | 191 392 324 208 140
K6 | 165 | 83 232 | 149 365 | 282 498 415 250 168
K7 | 137 | 41 203 | 107 336 | 240 469 373 292 196
K8 176 | 66 309 199 442 237 575 465 708 598 333 995
SR-160 | K9 280 157 413 290 546 423 679 556 375 951
K10 253 115 386 248 519 381 652 514 | 785 | 647 417 279
K11 358 207 491 340 624 473 | 757 | 606 458 307
K12 330 165 463 298 596 | 431 729 | 564 500 335
Ks | 332 | 222 438 | 329 651 542 309 200
K6 | 292 | 161 398 | 267 611 | 480 824 693 B 240
K7 | 252 | 99 358 | 205 571 | 418 784 631 433 280
K8 318 | 143 531 356 744 569 957 782 1169 | 995 495 320
SR-190  ["yq 491 | 295 704 507 917 720 1130 | 933 557 360
K10 451 | 233 664 446 877 658 1090 | 871 1302 | 1084 618 | 400
K11 624 384 837 597 1050 | 809 1263 | 1022 680 | 440
K12 584 322 797 535 1010 | 748 1223 | 960 742 | 480
K5 | 390 | 285 523 | 418 789 684 380 275
K6 | 335 209 468 | 342 734 608 1000 | 874 456 330
K7 | 280 133 413 | 266 679 532 945 798 532 385
SR-210 | K8 358 | 190 624 | 456 890 722 1156 | 988 1422 | 1254 608 | 440
K9 569 380 835 646 1101 | 912 1367 | 1178 684 | 495
K10 514 304 780 570 1046 | 836 1312 | 1102 | 1578 | 1368 760 550
K11 725 494 991 760 1257 | 1026 | 1523 | 1292 836 605
K12 670 418 936 684 1202 | 950 | 1468 | 1216 912 660
K5 | 552 409 744 | 600 1129 | 985 554 | 410
K6 | 470 297 662 | 489 1047 | 874 1432 | 1259 665 | 492
K7 | 388 187 580 | 379 964 | 764 1349 | 1149 75 55
SR-240 | K8 498 | 268 883 653 1267 | 1037 | 1652 | 1422 | 2037 | 1807 886 656
K9 800 542 1185 | 926 1569 | 1311 | 1954 | 1696 998 739
K10 718 | 431 1103 | 816 1488 | 1201 | 1872 | 1586 | 2257 | 1970 1108 | 821
K11 1021 | 705 1406 | 1090 | 1791 | 1474 | 2176 | 1859 1219 | 903
K12 939 594 1323 | 979 1708 | 1363 | 2093 | 1748 1330 | 985
K5 | 903 675 1195 | 968 1779 | 1552 787 560
K6 | 790 519 1083 | 811 1667 | 1396 | 2252 | 1981 943 672
K7 | 679 361 972 | 654 1556 | 1238 | 2141 | 1823 1101 | 783
K8 860 | 497 1444 | 1081 | 2029 | 1666 | 2614 | 2252 | 3199 | 2836 1258 | 895
SR-270 | K9 1332 | 923 1917 | 1509 | 2502 | 2094 | 3087 | 2678 1416 | 1007
K10 1220 | 767 1805 | 1352 | 2390 | 1937 | 2974 | 2521 | 3560 | 3107 1572 | 1119
K11 1693 | 1194 | 2278 | 1779 | 2862 | 2364 | 3448 | 2949 TER | e
K12 1582 | 1037 | 2167 | 1623 | 2751 | 2207 | 3336 | 2792 1887 | 1342
K5 | 1097 | 729 1061 | 730
K6 | 935 494 1316 | 875 1273 | 876
K7 | 772 258 1153 | 639 1916 | 1402 1485 | 1022
SR-300 | K8 991 | 403 1754 | 1166 | 2517 | 1929 1697 | 1168
K9 1592 | 930 2355 | 1693 | 3118 | 2456 1909 | 1314
K10 1430 | 695 2193 | 1458 | 2956 | 2221 | 3719 | 2984 | 4482 | 3747 2122 | 1460
K11 2030 | 1222 | 2793 | 1985 | 3556 | 2748 | 4319 | 3511 2334 | 1606
K12 1868 | 986 | 2631 | 1749 | 3394 | 2512 | 4157 | 3275 2546 | 1752
K5 | 1553 | 964 1702 | 1173
K6 | 1292 | 586 1863 | 1157 2043 | 1408
K7 | 1031 | 208 1602 | 779 2745 | 1922 2383 | 1642
craso | KB 1341 | 401 2484 | 1544 | 3626 | 2686 2724 | 1877
K9 2224 | 1165 | 3336 | 2307 | 4508 | 3449 3064 | 2112
K10 1963 | 787 3105 | 1929 | 4247 | 3071 | 5390 | 4214 | 6532 | 5356 3405 | 2346
K11 2844 | 1551 | 3986 | 2693 | 5129 | 3836 | 6271 | 4978 3745 | 2581
K12 2584 | 1172 | 3726 | 2314 | 4869 | 3457 | 6011 | 4599 4086 | 2816
K7 | 2028 | 869 2880 | 1837
K8 | 1736 | 411 2550 | 1225 3292 | 2100
K9 2259 | 768 3887 | 2396 3703 | 2362
K10 1967 | 311 3505 | 1939 | 5223 | 3567 4115 | 2624
K11 3303 | 1482 | 4931 | 3110 | 6559 | 4738 4526 | 2887
SR-a00 | K12 3012 | 1025 | 4640 | 2653 | 6268 | 4281 | 7895 | 5908 | 9523 | 7536 4938 | 3149
K13 4348 | 2195 | 5976 | 3823 | 7603 | 5450 | 9231 | 7078 5349 | 3412
K14 4057 | 1738 | 5685 | 3366 | 7312 | 4993 | 8940 | 6621 5761 | 3674
K15 3765 | 1281 | 5393 | 2909 | 7020 | 4536 | 8648 | 6164 G
K16 5101 | 2452 | 6728 | 4079 | 8356 | 5707 6584 | 4199

112




Accton

www.wxaccton.com

4ME R ~F & Dimensions

BV : X/ Unit:mm

10, %MER~TBE Dimensions

Jﬂ
1\%}:111 32 40 52 63 92 105 125 140 160 190 210 240 270 300 | 350 @400
: : 1
| | B 4 | 65 | 715 | 8 | 95 | 103 | 1085 | 1215 | 142 | 1525| 174 | 206 | 226 | 260 | 294 | 336 | 385 | 520
k : : C 4 | 60 | 72 | 88 | 995 | 109 | 1165 | 133 | 155 | 172 | 197 | 230 | 255 | 289 | 326 | 350 | 410 | 466
- | i D 66 | 80 | 92 | 108 | 1195 | 129 | 1365 | 153 | 185 | 202 | 227 | 260 | 285 | 319 | 356 | 380 | 440 | 496
2-G1/8” . E @40 | G40 | @40 | @40 | @40 | @40 | @40 | @40 | @55 | @55 | @55 | @80 | @80 | @80 | @80 | @80 | @80 | @80
- ! ! Y F | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8
A 0| )@ 5 ! i [ \o o G 30 | 30 | 30 | 30 | 30 | 3 | 30 | 30 | 30 | 30 | 30 | 3 | 3 | 30 | 30 | 30 | 3 | 30
<' 4 B " | . @ H 50 | 8 | 8 | 8 | 80 | 8 | 8 | 80 |80/130(80/130|80/130| 130 | 130 | 130 | 130 | 130 | 130 | 130
N I O I
a e | | o 0
1/ ] | O
4-M5 / 32 i i
I B I H
A I I
s B | | ' #E# R B Connection
== : i \ -
g ) L L SIRERE REPEREF TSP 1%
nl: ! B:E ®© ®© ! b o Air connection NAMUR Bottom view ISO 5211/DIN 3337 Shaft top NAMUR
e 5o | A J[ ®:
\ I U I —
< ® O ! | 5 & Double Dol
(@] : l Square “D”  Key Way 0) | |~
O B | |
I : : ] i
I I : | | o
__________________________________________ | R N DS DD KEY = |
- i i FR/Standard  3/Options .
o | o DA/SA-40~240  DA/SA-270~400 ARG A2 gt ARC.32
N ——— Y I I
2 OO0 : | -
N : : o) o
Ln : o
z o o : : Te) o)
(7, ® © : :
2 oo : :
7 | | —— ,
__________________________________________ 40 | 52 | 63 75 | 83 | 92 105|125 140 | 160 190 210 240 270 300 350 @400
o . : . F M 32 32 32 32 32 32 32 3) 32 32 32 32 32 32 45 45 45 45
g ﬂ M : : in ml N | 24 | 24 | 24 | 24 | 2 | 24 | 24 | 24 | 24 | 24 | 24 | 4 | 24 | 24 | 40 | 40 | 90 | 4
) o | cus" | G4 | guar | Guar | G4 | Gua" | Gl | Gua" | G4 | GlA4" | Gl4" | Gl4" | Gl4" | GlA4" | Glr" | Gl2' | G1R" | Gl
8 O 0O | : = P | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | M5x8 | MSx8 | MSx8 | M5x8 | Méx10 | Méx10 | Méx10 | Méx10
m = : el - @ Q / FO3 | FO3 | FO5 | FO5 | FO5 | F05 | F07 | FO7 | F10 | FI0 / / / / FI6 | F16 | Fl6
1 s | |
(a4 ! ! Q1 | Fo3 | Fo5 | Fo5 | FO7 | FO7 | Fo7 | Fo7 | Fl0 | Flo | F12 | F12 | Fl4 | F14 | F16 | Fi16 | @215 | F25 | F25
v e R /| M5x8 | M5x8 | M6x10 | M6x10 | M6x10 | Méx10 | M8x13 | M8x13 | M10x16|M10x16| / / / /| M20x25 | M20x25 | M20x25
2 | : TR R1 | Msx6 | M6x9 | M6x9 | M8xI3 | M8x13 | M8x13 | Msx13 | M10x16| M10x16 | M12x19 | M12x19 | M16x23 | M16x23 | M20x25 | M20x25 | M20x25 | M16x24"| M16x24"
- . A ! : —H_. S | ox12 | 11x14 | 11x14 | 14x18 | 14x18 | 17x21 | 17x21 | 22x26 | 22x26 | 27x31 | 27x31 | 36x50 | 36x50 | 46x60 | 46x60 | 46x60 | 46x60 | 55x60
T | 10 [ 10| 10| 10| 10 | 10| 14 | 4 | 2 | 22|33 32|32 |32|32|3n
U 105 | 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12 12

113

* 8MNERET, 8 screw holes

114



www.wxaccton.com

FEIERETEFENET | B{FRV TS E BIR SR
30%-50%

Ian -

I JEESIFE=80N'm

24 H4E=80 ( 1+30% ) =104N-m
SRIE/1=5Bar
XTERERERVI TR I N%ERR |, BT LAEE!
SR140K7

HiH %A

ZFE1TF20°=308N'm

TH1TFE90°=247N-m
BAEE(TFE90°=181N-m

SAEE(TFE0°=120N'm

Frata ORI R TFRAIFK,

e o
BEERHITREHESAIRES |, TEIBOBS AT
W TEskaH 0%E |, tBRESBRENSLL,

BERAMITREETER I Spring mounting form for spring return actuators

(B0, (O,

O (6@6\ /B0
Vg \8¥

@c® @8/

5 Springs 8 Springs
989 §98&°
\@/7’8 O \O/B;pm@/

39 8% 8% 8%
&Y 6D Y 8P

9 Springs 10 Springs

8
/ @é\) (@% \] (’f @W\‘) (’fé%‘)

\ A / \ Y
800 8g¥ \Pg® ¥

115

The suggested safety factor for spring return
actuator under normal working conditions is
30-50%

Example:

The torque needed by valve=80N.m

The torque consider safety
factor(1+30%)=104N-m

Air Supply=5Bar

According to the table of spring return
actuators’ output,

we find out torque of SR140 K7 is:

Air stroke 0°=308N-m

Air stroke 90°=247N-m

Spring stroke 90°=181N-m

Spring stroke 0°=120N-m

All the output torque is large than we needed.
Attention

During the restoration,the spring return
actuators’ output will not be affected by the
inputing air from the port B.On the contrary , it
will help the restoration of springs.

EER{EFRITESRUGECIIRE S | WNREER 7 HRIR) I J1E
FiE. ETAXANNHEESES , FAIHATLAE e
ot EINEEIEECHA TS,

During selecting the spring return actuators ,we
can choose the more reasonable and more
economical actuators,if we know the differe nt
torque needed by the valve working at ope ning,
operating and closing.

Example:

The max torque needed by the butterfly
valve=104N.m

The torque after
opened(operating)104x30%=32N.m

Air Supply=5Bar

We can select the SR125K11

output torque is:

Air stroke 0%136N.m>104N.m

Air stroke 90°=78N.m>32N.m

Spring stroke 90°=173N.m > 32N.m

Spring stroke 0°=115N.m > 104N.m

The above datas show the actuator’ s torqu e can
satisfy

the requirement of the butterfly valve

A
X1 | 100%
Butterfly valve O\—/ 100%
BE2=18 | 1009 30%
Plug valve
80%
ol HTF@ 100% 50%
R v 50%
40%
: .

FFig Open 0°  j={T Operating 90°  [E]EE Close 90°

Accton

fian

IR RER ATHRE=104N-m
FIFFSHA%E104x30%=32N-m
SIRES=5Bar

A IRT LSRR SR125 K11
Z547F20°=136N-m>104N-m
ZZE1TF290°=78N-m>32N‘m
BAEE/TFE90°=173N-m>32N'm
BAEE/TFE0°=115N-m>104N-m

PAEEIE B~ AR R IZ SRR IERE S,

i B RN TERRE AR EE IR AR (HUTRRIESHISIRED ) .
HER , GEHEAMXERTHE] , REEEERN L. REREFSH.

Note Make sure that the torque necessary to operate the valve is compatible with the actuator torque (it depends on both

actuator type and air supply).

Please note that the requested torque depends not only on the valve,but on the working conditions and the safety

margins of the plant in question,too.

B E X Weight Table
#lEModel 32 40 52 63 75 83 92 105 125
&E& (DA)| 0.7kg 1kg 1.4kg 2kg 2.7kg 3.5kg 4.7kg 5.7 kg 8.1kg
&8 (SR) - 1.1kg 1.5kg 2.1kg 2.9kg 4kg 54kg 7.0kg 10.5kg
#EModel 140 160 190 210 240 270 300 350 400
&8 (DA)| 12.3kg 20kg 33kg 37.8kg | 56kg 80kg | 100.6 kg | 160kg 197.3kg
&2 (SR) | 16kg 25.4kg | 39g 47.4kg | 69.2kg | 102.2kg | 128.2kg | 209.2kg 243kg

#£SE Air Consumption

FrEAFRFIXEARFRAIr Volume Opening&Closing

E 1, SRAL2MRHE ; 2, EENSEE

Unit:L

Al=2Model | Air volume opening | Air volume closing A= Model | Air volume opening | Air volume closing
FEARFR (F) KARFR (F) FRWAFR (1) KAERFR (F)

32 0.04 0.05 140 2.5 02

40 0.08 (6Ll 160 3.7 3.2

52 0.12 0.16 190 5.9 5.4

63 0.21 0.23 210 7.5 7.5

75 0.3 0.34 240 11 9

83 043 047 270 17 14

92 0.64 0.73 300 23.8 29.7

105 0.95 0.88 350 35.1 46.3

125 1.6 1.4 400 52.6 56

ASEINRTHSED., FXITE. MREIERE , itt8F

FH/43> =SETATR ( FREAFR + M5 ) X[{#’Eﬁﬂ (Kpa ) +101.3]><>X§i/55~€¢

101.3

L/Min=Air volume(Air volume Opening+Air volume closing) x[Air Supply(Kpa)+101.3 [xAction cycle times/min

Air consumption rest with Air Supply.Air volume and Action cyI:cIe times,expressions:

101.3 :I

116




Accton

www.wxaccton.com

ST X1 Pneumatic actuator accessories area

LEPREEMEEIEEF

provide customers with a more comprehensive choice

=1z
- i

LA ¥ /hard anodized

R R BEA ABHL o B COOPERATION
standard hard colorful hard natural color b #?EL hed
anodized anodized hard anodized urs ‘nishe

im=HIEI e /Color of end caps

B BIFZEHE ME B i1EMi5518/ F)/Any other Custom color pls contact with us

fg451EE /Adaptor

}57~25/indicator

117 118




